
Lösungen zu Aufgaben zu globales Verhalten von 
Exponentialfunktionen

Globales Verhalten

a) x → −∞ ⇒ f ( x ) → ∞
x → ∞ ⇒ f ( x ) → 0

b) x → −∞ ⇒ f ( x ) → 0
x → ∞ ⇒ f ( x ) → ∞

c) x → −∞ ⇒ f ( x ) → 0
x → ∞ ⇒ f ( x ) → ∞

d) x → −∞ ⇒ f ( x ) → ∞
x → ∞ ⇒ f ( x ) → 0

e) x → −∞ ⇒ f ( x ) → ∞
x → ∞ ⇒ f ( x ) → 3

f) x → −∞ ⇒ f ( x ) → −5
x → ∞ ⇒ f ( x ) → −∞

g) x → −∞ ⇒ f ( x ) → −∞

x → ∞ ⇒ f ( x ) → 1
5

h) x → −∞ ⇒ f ( x ) → ∞
x → ∞ ⇒ f ( x ) → ∞

i)
x → −∞ ⇒ f ( x ) → ∞
x → ∞ ⇒ f ( x ) → −∞

Asymptoten

a) asymptote: y=0

b) asymptote: y=0

c) asymptote: y=4

d) asymptote: y=0,6

e) asymptote: y=−π

f) asymptote: y=−
1
4
x

g) hat keine Asymptote

h) asymptote: y=−1

i) asymptote: y=x+2

Funktionsgleichungen Bestimmen

a) f ( x )=a⋅bx+c
g : y=−2  ist Asymptote ⇒ c=−2
f (1 )=a⋅b−2=−1 ∧ f ( 3 )=a⋅b3−2=7

a=1
b

∧ 1
b
⋅b3=b2=9 ⇒ b=3 ⇒ a=1

3
⇒ f ( x )=1

3
⋅3x−2

b) f ( x )=a⋅bx+c

g : y=3
4

 ist Asymptote ⇒ c=3
4

f (0 )=a+
3
4
=2,75 ∧ f ( 5 )=a⋅b5+

3
4
=0,8125

a=2 ∧ 2⋅b5+ 3
4
=0,8125 ⇒ b5=0,03125 ⇒ b=0,5 ⇒ f ( x )=2⋅0,5x+ 3

4

c) f ( x )=a⋅bx−0,5 x+0,5
f (−1 )=a⋅b−1−0,5(−1 )+0,5=−1

a⋅1
b
=−2 ⇒ a=−2b

wähle b=2 ⇒ a=−4 ⇒ f ( x )=−4⋅2x−0,5x+0,5
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d)
f ( x )=a⋅bx−

3
2

f (0 )=a−3
2
=3
2

∧ f ( 1 )=a⋅b−3
2
=0

a=3 ∧ 3⋅b=
3
2

⇒ b=
1
2

⇒ f ( x )=3⋅( 12 )
x
−
3
2

, x∈ℝ

e) f ( x )=a⋅bx−3
f (−2 )=a⋅b−2−3=1 ∧ f (−1 )=a⋅b−1−3=3

a=4b2 ∧ 4b2⋅1
b
=6 ⇒ b=3

2
⇒ a=9 ⇒ f ( x )=9⋅( 32 )

x
−3 , x∈ℝ

f)

f ( x )=a⋅bx+2
f (−1 )=a⋅b−1+2=−2 ∧ f (0 )=a+2=1

a=−1 ∧ −1
b
=−4 ⇒ b= 1

4
⇒ f ( x )=−( 14 )

x
+2 , x∈ℝ
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